A&P I F Test 4         9/22/2011

Answer all question. Total Score 50

1. Why are ruptured intervertebral discs more common in lumbar vertebrae and dislocations and fractures more common in cervical vertebrae? 1
2. What role do the fontanels play in infant development? 1
3. Infection of the large process on the temporal bone would be called _____________________. 

4. The ________ passes through the ________.  

A) vagus nerve; foramen magnum

B) optic nerve; foramen ovale

C) vestibulocochlear nerve; external acoustic meatus  

D) internal jugular vein; jugular foramen 

E) internal carotid artery; jugular foramen  

5. The alveolar process of the mandible               
A) supports the upper teeth.

B) supports the lower teeth.

C) anchors the tongue.

D) is part of the temporomandibular joint.

E) articulates with the hyoid bone.

6. The four spinal curves include all but one of the following. Identify the exception. 
A) thoracic

B) cervical

C) lumbar  

D) axial

E) sacral

7. The role(s) of the sinuses include(s):  

A) making the skull lighter  

B) production of mucus that moistens and cleans the air  

C) release of stress hormones  

D) extra source of air  

E) making the skull lighter and production of mucus that moistens and cleans the air

F) all of the above

8. The hyoid bone     E 

A) attaches to tongue muscles.  

B) is linked to the styloid process by a ligament.  

C) is superior to the larynx.  

D) does not directly articulate with other bones.

E) All of the answers are correct.  

9. The nasal conchae  

A) attach muscles that move the eye.  

B) contain the nerves for olfaction.  

C) create turbulence in the nasal passageways.  

D) protect the pituitary gland.  

E) attach muscles that move the eyelids.  

10. Sutures can be found at all of the joints of an adult skull, except between  a

A) the mandible and the cranium.  

B) the zygomatic bone and the maxillary bone.  

C) the occipital bone and the parietal bone.  

D) the vomer and the zygomatic bone.  

E) the sphenoid bone and the ethmoid bone.

11. Which of these types of vertebrae and their numbers is not correct? d

A) cervical: 7

B) thoracic: 12

C) lumbral: 5

D) sacral: 1

E) coccygeal: 3 to 5

12. What are the features of the intervertebral disc which accounts for its function(s)? 2
13. Give the clinical term for the condition in which the vertebral laminae fail to unite during development :
14. In the condition known as ________, premature closure of all of the cranial sutures results in restricted brain growth and an undersized head.  

15. Joe is 40 years old and 30 pounds overweight. Like many middle-aged men, Joe carries most of this extra weight in his abdomen and jokes with his friends about his "beer gut." During an annual physical, Joe's physician advises him that his spine is developing an abnormal curvature. Why is the curvature of Joe's spine changing, and what is this condition called? 1
16. A tubercle of a rib articulates with 

A) the manubrium.  

B) the costal facets of thoracic vertebrae. 

C) the hyoid. 

D) the xiphoid process. 

E) the cervical and thoracic vertebrae.
17. Describe the modifications of the foot compared to the hand that enables it to function most efficiently: 3
18. Bones of the axial skeleton have all of the following functions except _____?

A. Protect brain and spinal cord

B. Provide surface area for attachment of respiratory muscles

C.Contain medullary cavities with yellow bone marrow

D.Protect organs of the ventral body cavity 

19. Joe suffered a hairline fracture at the base of the dens. Which bone is fractured, and where is it located?

A.Second cervical vertebra; posterior neck

B.First cervical vertebra;  posterior neck

C.Occipital bone; posterior base of skull

D.Sacrum; posterior pelvis

20. When you run your finger along a person’s spine, what part of the vertebrae are you feeling just beneath the skin?

A. Superior articular processes

B.Pedicles 

C.Transverse processes

D.Spinous processes

21. Improper administration of cardiopulmonary resuscitation (CPR) can result in a fracture of which bone(s)?

A. Cervical vertebra and ribs

B. Thoracic vertebra and ribs

C.Sternum and thoracic vertebra

D.Sternum and ribs

22. How could you distinguish between true ribs and false ribs?
A. True ribs attach directly to the sternum by their own costal cartilage.

B.True ribs are entirely bony.

C.False ribs are not part of the thoracic cage.

D.True ribs are attached only to the sternum.

23. How could you distinguish between true ribs and false ribs?
A. Vertebrae are absorbed as adult stature is reached.

B.Newborns require more support in the cervical region.

C.The sacrum and coccyx fuse post-puberty.

D.Vertebrae are formed that later become ribs.

24. The only direct articulation of the pectoral girdle to the axial skeleton is at the articulation of the ______.

1. A. Medial end of the clavicle and manubrium

2. Head of the femur to the acetabulum

3. Lateral end of the clavicle to the head of the humerus

4. None of these

25. When you are seated, which part of the pelvis bears your body’s weight?

1. A. Obturator foramen

2. Posterior inferior iliac spines

3. Ischial tuberosities

4. Pubic tubercle

26. Which foot bone transmits the weight of the body from the tibia toward 
the toes?

1. Calcaneus 

2. Navicular bone

3. Cuboid bone

4. Talus

27. Another student comes to you and says, “Tom can control not much in life”. What are they talking about?

1. Tom must live with his parents next semester

2. The memory tool for remembering the tarsals

3. Talus, calcaneus, cuboid, navicular, and medial, intermediate and lateral cuneiform bones
4. 2 and 3

28. Contrasting the pelvis with the pelvic girdle, reveals that ____.

1. The pelvic girdle includes the femurs, whereas the pelvis only includes hip bones and sacrum

2. The pelvis includes the hip bones, sacrum, and coccyx and the pelvic girdle refers only to the hip bones

3. They refer to exactly the same structures

4. None of these is correct

29. The fibula neither participates in the knee joint nor bears weight.  When it is fractured, however, walking becomes difficult.  Why?

1. Fibula helps stabilize the ankle joint.

2. Fibula attaches many leg muscles.

3. Both 1 and 2.

4. None of the above

30. The "pinky finger" is known as metacarpal number I
A. TRUE                                     B. FALSE

31. Match the term with its key characteristics. 3
1. 
lunate
A) pea-shaped

2. 
navicular
B) comma-shaped

3. pisiform
      
C) boat-shaped
32. What is deviated septum? How does it affect the function of the respiratory organs? 2
33. The foot has ________ ankle bones and ________ bones in the sole.  

A) 5; 5

B) 7; 5  

C) 8; 4 

D) 8; 5  

E) 4; 5  

38. Why are the bodies of the lumbar vertebrae so large?

1. They develop first and therefore have longer to grow.

2. To provide more flexibility.

3. To distribute weight over a larger area.

4. To provide greater protection to the lumbar spinal nerves.

39. Describe the structure and function of the following: 1x6
A. CONDYLE

B. TUBERCLE

C.FOSSA
D. MEATUS

E. TROCHLEA

F. SULCUS
